¥ G o o W g 5 A W




- RiEELESEN -

itk il
%ﬁﬁ%ﬂl AT

x %W
PEMFHRAKRFNER FEK

W A

FEKR HER FRA
B % B FRHE

- R A Nl

er




 EBEEMREC 1 P)ME

LA EERAENEEE/ T ERER: LR
G . — G0 RERE B AR RREE,2000. 3

(EERLINLE S @)

ISBN 7-5337-1958-1

Lo 1. OF @B 1. HiF-KT%R-RE-
B¥3%%K N.H310.42-44

b [ R A B F5 48 CIP B8 B 5 (2000) 48 03791 &

*
BRPHFBAR IR AR
(& AE T BR 8 B 1 S 57 8 1 iR K ]
HIR B 4R 75 : 230063
#1155 15 . 2825419
WERBEZY AERFLER PR
FFA.787X 1092 1/16 EI3K.13.75 F¥.340 F
2000 4F 3 ASE 1R 20004 3 A4 1 KEPR
Ef % .6 000

ISBN 7-5337-1958-1/H « 296 E#+:15.00 ¢

45 4078 B L R R 45 R B 1 A 4 R A7 R A )



T

1]

1999 MM W2 ECRELBEHERRE) (BITE) (BEFBAR ) MR E K¥EERE

1%1:. SHREREESRIRB THNERNER, 199 EHAAEREEETRARE
BRI EREAPIUAT 5

(1) BB NEAR 5 500 N IEiE 1A, Hp H AR EIE 3000 4, B 1986 42K 4938 4m 200
o ASM I ERFERFANBEEBEOBEIRE UL FEENRE R RAMMT,

(2) EMRIHEIER 50 000 N IEIE HIF , bR 500 1M 2 & 225 000 M HES
Tl — MR IEEE T R 70wpm, i3 B 5253 B 24 120wpm,

(3) RET R BRI SE RIEMHE, ERENEFOAE EASEXLEY, 4L
YEE AR I HEAT 00 HEBRAINT . 07 A AERHEE R 150~ 170wpm, ELIERIE I 10~
30wpm,

(4) REFEBYEMERE SR CH R B EM R REID, AR E, BRAMEE; BR—F
T RE IR\ R S B R TER /N B H 150~ 180 MEIMSESC; BEE B ¥ A (AVE R &
%), BRARTE, FEHE, SCHEM, 30 4480 P95 305 VER B E R H Rk ¥ hn 30 4
RIB A,

(5) REBNFMER (R TUHRSCHIEIE SCF , BOR B IE 7, RSO &, 3R /et 350 N3
BRI, M PRENIGERRIOE, FOAE, BEKIE TR, 353 h 8/ 300 MY
Fo

(6) REHIT M HHRIE., 23RS, BER—MRAH 24 EFERTH AR GHEM

. REBEEE,

Rt RARA R BT ) S E R B4 Ot — W BB KRR W ER 2B
b s QMBI 5% XA S M EHIEF ; OBBA ML BRI E S MR 515 3 865 sk
T OFBEUE RN T ER Y 6 EWHHTRY, a&mmw%m&a 5%, AKEEAC
MBEEIRS SHRREW , £ EEN B CHWEBKE,

B EBERFEREM MU TILNSE:

(1) o8 3R R 1999 S5 R MABEER,, U KR40I AR SR T4,

(2) 2EMH T LFMEGBR S WAHER N AEHE, R2EARELELEREHKRE
B ERABTEIRS . X TEERIRS P AAEY SHBRNES T RIR:

CETS X% (1~10) BRLM KR
(R BHFERNFER , K Y SR )

HEFERER = Z|IZWA|A|{E|A |+

Part T Listening Comprehension

Section A: 10 Short Conversations VIVIVIVIVIVIVIVIVIV

Section B: 3 Short Passages VI IVIVIVIVIV

Section B: Spot Dictation vV

Section B: Compound Dictation VvV
Part I | Reading Comprehension VIVIVIVIVIVIVIVIVIV
Part [l | Vocabulary and Structure VI IVIVIVIVIVIVIVIVIV




< 2.3

REFSRER —
Part IV | Error Correction \4

Short Answer Questions V|V

Translation from English into Chinese A4

Part V | Writing R 4U1E X VIV
KRIAMEX V|V
FERSHEX V|V
TR BT 45 U (CATIUE) '

HHRERAE

(3) £WKEHMABER SR, U 30 HE AR, HBEEE N 150wpm B0 H
WK FEFH . BEFIHAER,

(4) BERHFIET 1999 SEFAAAE N AREIBE I BB K EBH 1 300 MKiE
Hia], ATt A 7R RN B 2 MGEERLK T,

FHBTERES, RERRERE - ZERS = NWRIRERE, AXAHERENERS
AHIBBEERE; TR E RE RS —ERE AN BRI SEEEH, 5, A URE
S ERE; BIEEREE L \FRERSNBRE REREENL T RERENLBRE,

FHEEREEEFAEREN, BHRZ A 7EITES, WD A B EHE,

<[l
< |
<|BE

<
<

4\4

ZEK
FHEBEERKE



CET6 Bt — BRI - ccvrerrrmreerreneeremmuiiiiiinseenie e sese e e s e eneans 1
B oereueects ittt st st e re st e eetiataansasananaretartennsesanncrreserarsssensertrsanssseertans 1
ﬁ{:%_ﬁﬁ ................................................................................................... 12
CET6 Emﬁ%;&ﬁxmﬁﬁ ........................................................................... 21
ﬁt%: ......................................................................................................... 21
ﬁf%:ﬁﬁ ................................................................................................... 32
CET6 amﬁ#z&ﬁuﬂﬁ ........................................................................... 40
ﬁ:a’% D steittietiiiieitee i e ittt ee st s as e et taset et taa sttt eseriacasectttetecesetetannneraanas 40
B3 E*ﬁﬁ ................................................................................................... 50
CETe6 ##li® % IXTIEIR v e 58
7 111 [T U 58
#3400 ﬁﬁ ................................................................................................... 69
CET6 ﬁ?ﬂﬁtﬁfﬁ&ﬁtﬁﬂﬁ ........................................................................... 80
B - 3 TR LR R T LT T 80
AR ﬂﬁﬁ ................................................................................................... 92
CET6 &mﬁ%#&ﬁtﬂﬁm ........................................................................... 102
7 1 = AT N 102
ﬁ%;’-\—ﬁﬁ ................................................................................................... 114
CET6 BEHIR & R MIERE oo ooorereerernri e 125
ﬁ:ﬁ%,{: ......................................................................................................... 125
D - ¥ N 136
(OO U EVRER AN B 1 F . 1 N 144
ﬁt% AN PN 144
B AN - ¥ R T PPN 155
CET6 Bl B AL BIRITMIMR - oo oovvorreeemsertimneii e s ecsnsee e en e ns 163
7 -3 LR T L R T T P 163
#¥ jh*ﬁm ..................... B T P O PP PP T PP PP P PP P P PR PP 174
CET6 Hili 4 T B MR - o c-cvovvrerermmrertmmeminriiinr it raeionieeneseenenneenns 182
iﬁﬁ‘f" ......................................................................................................... 182
7 R SN 194




RE— -1

Part [
Section A

Directions:

Example:

CET6 WL 5 — B ik R R

kB —
COLLEGE ENGLISH TEST
—Band Six—

Listening Comprehension (20 minutes)

In this section you will hear 10 short conversations. At the end of each conver-
sation , a question will be asked about what was said. Both the conversation and
the question will be spoken only once. After each question there will be a pause .
During the pause, you must read the four suggested answers marked A), B),
C) and D), and decide which is the best answer . Then mark the corresponding

letter on the Answer Sheet with a single line through the centre .

You will hear :

You will read :
A) 2 hours. B) 3 hours.
C) 4 hours. D) 5 hours.

From the conversation we know that the two are talking about some work they
will start at 9 o’ clock in the morning and have to finish at 2 in the afternoon .
Therefore, D) “5 hours” is the correct answer. You should choose [D] on the

Answer Sheet and mark it with a single line through the centre .

Sample Answer  [A][B][C][B]

1. A) It rained on the way to the airport. . .

B) She put off packing it until it was too late.

C) Her suitcase was too full.

D) The umbrella was too long to fit in her suitcase.

2. A) Nothing. B) Ice cream.

C) Pie and ice cream. D) Chocolate cake.
3. A) She has none at present. i B) She has bought a new one.

C) She has only an old one. A D) Her brother has given her one.
4. A) Second Avenue. B) Third Avenue.

C) Brown Bonlevard. D) Fourth Street.

5. A) The weather was bad. B) It was too hot.
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C) 1t didn’t rain. D) It was warm enough to go swimming.

6. A) He went once. B) He went twice.
C) He went three times. D) He did not go.

7. A) 15 minutes. B) 20 minutes.
C) 30 minutes. D) 20 to 30 minutes

8. A) She is really an unlucky person. B) She is a good story teller.
C) She is an unbelievable person. , D) What she said is not always true.

9. A) The rooms are better but not the meals. B) The meals are better but not the rooms.
C) They are even worse. D) Both meals and rooms are better.

10. A) $20.0 B) $2.25 C) $2.50 D) $3.00

Section B Spot Dictation

Directions: In this section , you will hear a passage of about 200 words three times. The pas-
sage is printed on your Answer Sheet with about 60 words missing. First, you
will hear the whole passage from the beginning to the end just to get a general idea
of it. Then, in the second reading, you will hear a signal indicating the begin-
ning of a pause after each sentence, sometimes two sentences or just part of a sen-
tence. During the pause, you must write down the missing words you have just
heard in the corresponding space on the Answer Sheet. There is also a different
signal indicating the end of the pause. When you hear this signal , you must get
ready for what comes next from the recording. You can check what you have writ-

ten when the passage is read to you once again without the pauses .

When Shakespeare became successful in London he 11 in Stratford, a house called

New Place, 12 . Here he probably wrote The Winter’s Tale and The Tempest, and
here he died. 13 3 but there’s nothing left of it but a few bricks and the garden. The
man who owned it, Mr. Gastrell, was 14 , because so many people came to see
the house, that he pulled it down. 15 , but John said it’s true.
Shakespeare had planted a mulberry tree in the garden and Mr. Gastrell 16 , but
the people of Stratford took pieces of the tree and 17 of New Place, and that tree is

still growing there. I’m sorry to say that while we were not looking at him, Andrew took a piece
of it, 18 , from one of the branches. He said he knew Uncle Charles 19
Shakespeare and so he was going to plant his little piece in Uncle Charles’s garden so that Uncle

Charles 20 from “Shakespeare’s tree”.

Part [ Reading Comprehension (35 minutes)

Directions:  There are 4 reading passages in this part. Each passage is followed by some ques-
tons or unfinished statements. For each of them there are four choices marked A),
B), C) and D). You should decide on the best choice and mark the corresponding
letter on the Answer Sheet with a single line through the centre .
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Passage One
Questions 21 to 25 are based on the following passage:

When the television is good, nothing — not the theatre, not the magazines, or newspapers
— nothing is better. But when television is bad, nothing is worse. I invite you to sit down in
front of your television set when your station goes on the air and stay there without a book, maga-
zine, newspaper, or anything else to distract you and keep your eyes glued to that set until the
station signs off. I can assure you that you will observe a vast wasteland. You will see a proces-
sion of game shows, violence, audience-participation shows, formula comedies about totally unbe-
lievable families, blood and thunder, more violence, murder, Western badmen, Western good-
men, gangsters, still more violence, and cartoons. And, endlessly, commercials that scream and
cajole(Bt35 ) and offend. And most of all, boredom. True, you will see a few things you will en-
joy. But they will be very, very few. And if you think I exaggerate, try it.

Is there no room on television to teach, to inform, to uplift, to stretch, to enlarge the capac-
ities of our children? Is there no rcom for programs to deepen the children’s understanding of
children in other lands? Is there no room for a children’s news show explaining something about
the world for them at their level of understanding? Is there no room for reading the great litera-
ture of the past, teaching themn the great traditions of freedom? There are some fine children’s
shows, but they are drowned out in the massive doses of cartoons, violence, and more violence.
Must these be your trademarks? Search your conscience and see whether you cannot offer more to
your young beneficiaries(3 %% # ) whose future you guard so many hours each and every day.

There are many people in this great country, and you must serve all of us. You will get no
argument from me if you say that, given a choice between a Western and a symphony (&M 5%k),
more people will watch the Western. [ like Westerns and private eyes too — but a steady diet for
the whole country is obviously not in the public interest. We all know that people would often
prefer to be entertained than stimulated or informed. But your obligations are not satisfied if you
look only to popularity as a test of what to broadcast. You are not only in show business; you are
free to communicate ideas as well as to give relaxation. You must provide a wider range of choic-
es, more diversity, more alternatives. It is not enough to cater to (314 ) the nation’s whims (—
W3 )— you must also serve the nation’s needs. The people own the air. They own it as
much in prime evening time as they do at six o’ clock in the morning. For every hour that the

people give you — you owe them something, I intend to see that your debt is paid with service.

21. The wasteland (Line 5) referred to by the author describes
A) western badlands B) average television programs
C) morning television shows D) children’s programs generally
22. The author is primarily concerned to tell broadcasters that

A) the listener, not the broadcaster, should make the decisions about which programs are
aired

B) all children’s shows are worthless

C) mystery programs should be banned
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D) they had better mend their ways
23. Concerning programs for children, it may be inferred that the .speaker believes that such pro-
grams should
A) include no cartoons at all
B) include those which provide information on culture
C) be presented only during the morning hours
D) not deal with the Old West .
24. The statement that “the people own the air” (para. 3) implies that
A) citizens have the right to insist on worthwhile television programs
B) television should be socialized
C) since air is worthless, the people own nothing
D) the broadcasters have no right to commercialize television ,
25. It can be inferred from the passage in regard to television programming that the speaker be-
lieves .
A) the broadcasters are trying to do the right thing but are failing
B) foreign countries are going to pattern their programs after ours
C) there is a great deal that is worthwhile in present programs

D) the listeners do not necessarily know what is good for them

Passage Two
Questions 26 to 30 are based on the following passage:

Coincident([A]A ) with concerns about the accelerating loss of species and habitats(# 5 #b)
has been a growing appreciation of the importance of biological diversity, the number of species in
a particular ecosystem, to the health of the Earth and human being. Much has been written about
the diversity of terrestrial (ffi #5#9 ) organisms, particularly the exceptionally rich life associated
with tropical rain-forest habitats. Relatively little has been said, however, about diversity of life
in the sea even though coral reef (BB )systems are comparable to rain forests in terms of rich-
ness of life.

An alien exploring Earth would probably give priority to the planet’s dominant, most dis-
tinctive feature — the ocean. Humans have a bias toward land that sometimes gets in the way of
truly examining global issues. Seen from far away, it is easy to realize that landmasses occupy
one-third of the Earth’s surface. Given that two-thirds of the Earth’s surface is water and that
marine life lives at all levels of the ocean, the total three-dimensional living space of the ocean is
perhaps 100 times greater than that of land and contains more than 90 percent of all life on Earth
even though the ocean has fewer distinct species.

The fact that half of the known species are thought to inhabit the world’s rain forests does
not seem surprising, considering the huge numbers of insects that comprise the bulk of the spe-
cies. One scientist found many different species of ants in just one tree from a rain forest. While
every species is different from every other species, their genetic makeup constrains them to be in-

sects and to share similar characteristics with 750 000 species of insects. If basic, broad categories
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such as phyla( 3l AH¥4532 L #)17)and classes are given more emphasis than differentiating be-
tween species, then the greatest diversity of life is unquestionably the sea. Nearly every major
type of plant and animal has some representation there.

To appreciate fully the diversity and abundance of life in the sea, it helps to think small. Ev-
ery spoonful of ocean water contains life on the order of 100 to 100 000 bacterial cells plus assorted
microscopic plants and animals, including larvae (%5 5 ) of organisms ranging from sponges and

corals to starfish and clams and much more.

26. What is the main idea of the passage?

A) Humans are destroying thousands of species.

B) There are thousands of insect species.

C) The sea is even richer in life than the rain forests

D) Coral reefs are similar to rain forests.
27. Why does the author compare rain forests with coral reefs (para. 1)?

A) They are approximately of the same size. B) They share many similar species.

C) Most of their inhabitants require water. D) Both have many different forms of life.
28. The passage suggests that most rain forest species are .

A) insects B) bacteria C) mammals D) birds

29. The author argues that there is more diversity of life in the sea than in the rain forests because

A) more phyla and classes of life are represented in the sea
B) there are too many insects to make meaningful distinctions
C) many insect species are too small to divide into categories
D) marine life-forms reproduce at a faster rate
30. Which of the following conclusions is supported by the passage?
A) Ocean life is highly adaptive.
B) More attention needs to be paid to preserving ocean species and habltats
C) Ocean life is primarily composed of plants.
D) The sea is highly resistant to the damage done by pollutants.

Passage Three
Questions 31 to 35 are based on the following passage:

However important we may regard school life to be, there is no denying the fact that children
spend more time at home than in the classroom. Therefore, the great influence of parents cannot
be ignored or discounted by the teacher. They can become strong allies of the school personnel or
they can consciously or unconsciously hinder and thwart(F {F )curricular objectives.

Administrators have been aware of the need to keep parents informed of the newer methods
used in schools. Many principals have conducted workshops explaining such matters as the reading
readiness program, manuscript writing, and developmental mathematics.

Moreover, the classroom teacher, with the permission of the supervisors, can also play an

important role in enlightening parents. The many interviews carried on during the year as well as
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new ways of reporting pupils’ progress, can significantly aid in achieving a harmonious interaction
between school and home.

To illustrate, suppose that a father has been drilling Junior in arithmetic processes night after
night. In a friendly interview, the teacher can help the parent divert(f#¥£# 2| )his natural pa-
rental interest into productive channels. He might be persuaded to let Junior participate in discuss-
ing the family budget, buying the food, using a yardstick or measuring cup at home, setting the
clock, calculating mileage on a trip, and engaging in scores of other activities that have a math-
ematical basis.

If the father follows the advice, it is reasonable to assume that he will soon realize his son is
making satisfactory progress in mathematics and, at the same time, enjoying the work.

Too often, however, teachers’ conferences with parents are devoted to petty accounts of
children’s misdemeanors(/A %47 4), complaints about laziness and poor work habits, and sug-
gestions for penalties and rewards at home.

What is needed is a more creative approach in which the teacher, as a professional adviser,
plants ideas in parents’ minds for the best utilization of the many hours that the child spends out
of the classroom.

In this way, the school and the home join forces in fostering the fullest development of

youngster’ capacities.

31. What is the central idea conveyed in the above passage?
A) Home training is more important than school training because a child spends so many
hours with his parents. )
B) Teachers can and should help parents to understand and further the objectives of the
school.
C) Parents unwittingly have hindered and thwarted curricular objectives.
D) Parents have a responsibility to help students to do their homework.
32. It can reasonably be inferred that the author
A) is satisfied with present relationships between home and school
B) feels that the traditional program in mathematics is slightly superior to the developmental
program
C) believes that schools are lacking in guidance personnel
D) feels that parent-teacher interviews can be made much more constructive than they are at
present

33. A method of parent-teacher communication NOT mentioned or referred to by the author is

A) workshops for parents - B) new progress report forms
C) demonstration lessons D) parent-teacher interviews
34. The author implies that

A) teachers should occasionally make home visits to parents

B) school principals do more than their share in interpreting the curriculum to the parents
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C) participation in interesting activities relating to a school subject improves children’s achie-
vement in that area

D) only a small part of the school day should be set apart for drilling in arithmetic

35. What is the author’s primary purpose in writing this article?

A) It is to improve the teaching of mathematics.

B) It is to urge teachers and school administrators to make use of a much underused resource
— the parent.

C) It is to tell parents to do the best thing for their child’s education.

D) It is to help ensure that every child’s capacities are fully developed when he leaves school.

Passage Four
Questions 36 to 40 are based on the following passage:

It is all very well to blame traffic jams, the cost of petrol and the quick pace of modern life,
but manners on the roads are becoming horrible. Everybody knows that the nicest men become
monsters behind the wheel. You might tolerate the odd road-hog(&3F T AB A K FIHL), the
rude and inconsiderate, but nowadays the well-mannered motorist is the exception to the rule.
Perhaps the situation calls for “Be Kind to Other Drivers’ Campaign”, otherwise it may get com-
pletely out of hand.

Road politeness is not only good manners, but good sense too. It takes the most cool-headed
and good-tempered of drivers to resist the temptation to revenge(# & ) when subjected to uncivi-
lized behavior. On the other hand, a little politeness goes a long way towards relieving the ten-
sions of motoring. A friendly nod or a wave of acknowledgment in response to an act of politeness
helps to create an atmosphere of goodwill and tolerance so necessary in modern traffic conditions.
But such acknowledgments of politeness are all too rare today. Many drivers nowadays don’ t even
seem able to recognize politeness when they see it.

However, misplaced politeness can also be dangerous. Typical examples are the driver who
brakes violently to allow a car to emerge from a side street at some hazard to following traffic,
when a few seconds later the road would be clear anyway; or the man who waves a child across a
zebra crossing(BE 4% )into the path of oncoming vehicles that may be unable to stop in time. The
same goes for encouraging old ladies to cross the road wherever and whenever they care to. It al-
ways amazes me that the highways are not covered with the dead bodies of these grannies.

A veteran driver, whose manners are faultless, told me it would help if motorists learnt to
filter correctly into traffic streams one at a time without causing the total blockages that give rise
to bad temper. Unfortunately, modern motorists can’t even learn to drive, let alone master the
subtler aspects of roadmanship. Years ago the experts warned us that the car-ownership explosion
would demand a lot more give-and-take from all road users. It is high time for all of us to take this
message to heart. ‘

36. According to this passage, troubles on the road are primarily caused by
A) people’s attitude towards the road-hog B) the rhythm of modern life
C) the behavior of the driver D) traffic conditions
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37. The sentence “You might tolerate the odd road-hog ... the rule” (para. 1) implies that

A) our society is unjust towards well-mannered motorists

B) rude drivers can be met only occasionally

C) the well-mannered motorist cannot tolerate the road-hog

D) nowadays impalite drivers constitute the majority of motorists
38. By “good sense”, the writer means

A) the driver’s ability to understand and react reasonably

B) the driver’s prompt response to difficult and severe conditions

C) the driver’s tolerance of rude or even savage behavior

D) the driver’s acknowledgment of politeness and regulations
39. Experts have long pointed out that in the face of car-ownership explosion,

A) road users should make more sacrifice

B) drivers should be ready to yield to each other

C) drivers should have more communication among themselves

D) drivers will suffer great loss if they pay no respect to others
40. In the writer’s opinion

A) strict traffic regulations are badly needed

B) drivers should apply road politeness properly

C) rude drivers should be punished

D) drivers should avoid traffic jams

Part I Vocabulary and Structure (20 minutes)

Directions:  There are 30 incomplete sentences in this part. For each sentence there are four
choices marked A), B), C) and D). Choose the ONE that best completes the sen-
tence. Then mark the corresponding letter on the Answer Sheet with a single line
through the centre.

41. Peasants share meals of autumn with us.
A) abundance B) abundant C) addict D) addition
42. National poverty was by rapid pbpulation growth.
A) strengthened B) reinforced C) aggravated D) reduced
43. Never scissors into an electric socket.
A) prompt B) penetrate C) punch D) poke
44. A loud brassy chord ran down the corridor, the sound of Tom’s voice.
A) obscuring B) obscured C) distinguishing D) distinguished
45. The athlete up his last reserves of strength and forged to the front of the race.
A) paid B) looked C) puffed D) summoned
46. What a sad sight, with all the shops and the people gone.

A) shuttled B) shuttered C) shuttles D) shutters
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47.

48.

49.

50.

S1.

52.

53.

54,

33.

56.

57.

58.

59.

69.

61.

62.

63.

64.

65.

66.

off old age is in large part a matter of staying active.

A) Heading B) Warding C) Hitting D) Hissing

The ground began to shake and asudden _ opened under his feet.

A) void B) slice C) scenery D) palace

He made an turn to avoid hitting another car.

A) alternate B) arbitrary C) abrupt D) alongside

His job is to Western readers with recent happenings in China.

A) affirm B) acquaint C) affiliate D) acquire

They were angry to learn that the judge had given them an decision.

A) avert B) agreeable C) avail D) adverse

He often wore commercialized spectacles.

A) nil B) limp C) intelligible D) vulgar

The carpenter helped me to the cabinet at the base to keep it from tipping.

A) wedge B) wrench C) yoke D) tuck

At the age of 82 his health appears .

A) primitive B) psychological C) vulnerable D) proportional

In many Japanese homes, the funds are by the wife.

A) reinforced B) reduced C) administered D) requested

He was to poetry and hoped one day to be a poet himself.

A) affirmed B) addicted C) aggregated D) adored

Her face cracked into a million pleased -

A) wrinkles B) bumps C) patterns D) strips

Scientists hope to make a in their treatment of that disease.

A) breakdown B) breakthrough C) breakup D) breakage

His noisy parties made him in the town.

A) plausible B) nominal C) orthodox D) notorious

The dentist had to the tooth as it was badly decayed.

A) pull off B) release C) extract D) alleviate

What performance we should give at the party?

A) you thought B) do you think C) you think D) did you think
what you may, I won’t change my mind.

A) Say B) Saying . C) To say D) For saying

As for tools, only were really needed should be bought.

A) those of which B) those in that C) those which D) those that

Such people you describe are rare nowdays.

A) who B) whom C) as D) that

Whatever the reason, going whole hog for one class and neglecting the rest of them
a mistake.

A) are B) is C) had been D) have been

They do nothing except excuses.
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A) make B) making C) to make D) having made
67. You watered the flower, for it is going to rain. :
A) should have B) might have C) needn’t have D) hadn’t
68. He knew that she stolen it as she hadn’t been in the house at the time.
A) couldn’t have B) can’t have C) mightn’t have D) shouldn’t have
69. The light has gone out but my husband to it so I’ m sure it will soon be on again.
A) was seeing B) is seeing C) has seen D) had seen
70. We hung out a lantern lest they get lost in the mist.
A) can B) will C) shall D) should
Part IV Error Correction (15 minutes)

Directions:  This part consists of a short passage. In this passage, there are altogether 10 mis-

takes , one in each numbered line. You may have to change a word , add a word

or delete a word. Mark out the mistakes and put the corrections in the blank pro-

vided . If you change a word , cross it out and write the correct word in the corre-
sponding blank . If you add a word, put an insertion mark ( \) in the right

place and write the missing word in the blank . If you delete a word , cross it out

and put a slash ([) in the blank.

Example:
Television is rapidly becoming the literature of our perfods . 1. time/times/period

Many of the arguments heving used for the study of literature as a 2. /.

school subject are valid for A study of television. 3. __ _the

The big Oldsmobile saloon cut through two miles of traffic on a
busy four-lane highway with a nine-year-old boy at the wheel and a
sertously ill man by his side.

Minutes earlier at Wilmington, Delaware, schoolboy Mark
Spencer has been out for a drive with his father. Then 37-year-old 71.
Philip Spencer suffered a heart attack, just managed to stop before 72.
collapsing in agony.

Mark is only four feet tall, allowing him to peep over the top of
the dashboard, while arriving the control pedals with a toe. But he 73.
didn’ t hesitate, pushing his father across the bench seat and setting
off for a nearest hospital. 74.

“I did run through a red light and had to honk the horn to get 75.
past other cars but there weren’t too many problems,” he said.

Mr. Spencer is recovering in hospital, when the opinion is that 76.
the wouldn’ t have survived if Mark had hesitated, or even did the 77.
expected thing and phoned for an ambulance.
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The Spencers are an exceptionally close and loving family, and,
as Mark says, “We want my Dad, he’s really nice.”

His mother, Blanche, confirms what onc suspected — that her
son is “car mad” and, at the age of two years, succeeded in revers-
ing a station wagon down the drive.

“Thank God he was with his father,” she said, “I would have

panicked ... because I couldn’t drive.”

Part V Writing

78.

79.

80.

(30 minutes)

Directions:  For this part, you are allowed 30 minutes to write a composition based on the out-
line given in Chinese. The title of the composition is I Like Living in a Large City.

Your composition should be no less than 150 words. Remember to write clearly.

Qutline:
(1) MERAEFERI, A ERAEFE/ME L,
(2) /MAE LA T &
(3) MEEEFERTA—ME,



